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Note: : Part - | ’
a0 Answer all the questions. S | ST ¢
(). Choose the most suitable answ !
er from the gi
code and the corvesgionding s, e given four alternatlvef and write the option

1. The amount of credit sales can be computed from

(@) Tplal deb.t'ors account (b) Total creditors account

(¢) Bills receivable account (d) Bills payable account

2. th.n capital in.the beginning is ¥ 10,000, drawings duting the year is 36,000,
profit ma.de during the year is ¥ 2,000 and the additional capital introduced is
¥3,000, Find out the amount of capital at the end. £

(a) 9,000 , (b) Z 11,000
(c) X 21,000 ' 7 (d)Z 3,000

3. Donations received for,a specific purpose is ,
(a) Revenue receipt . . (b) Capital receipt ‘

. (c) Revenue expenditure (d) Capital expenditure

4. Subscription due but notreceived for the current year is
(d) Anasset . 3 . (b) A liability
(c) An expense , (d) An item to be ignored

5. Which of the following is shown in Profit and loss appropriation account?
(a) Office expenses - ~ (b) Salary of staff
(c) Partners’ salary - (d) Interest on bank Ioan

6. Which of the following is the incorrect pair? ; '

(a) Interest on drawings - Debited to capital account - :
(b) Interest on capital - Credited to capital account
(c) Interest on loan - Debited to capital account,
. (d) Share of profit - Credited to capital account
A Super profit is the difference between .
" (a) Capital employed and average profit "(b) Assets and liabilities
(c) Average profit and normal profit (d) Current year’s profit and average profit
Book profit of 2017 is ¥35,000; non-recurring income included in the profit is
¥1,000 and abnormal loss charged in the year 2017 was 32,000, then the adjusted
profit is A ' '
(a) ¥ 36,000
(c) T 38,000
9. At the time of admission, the goodwill
credited to the capital accounts of
(a) all the partners
(c) the new partner
10. Which of the following statem

partner?
(a) Generally mutual rights of the partners change , d : ‘
" (b) The profits and losses of the previous years are distributed to the old partners

(c) The firm is reconstituted under a new agreement .
" (d) The existing‘ agreement does not come to an end : - 12-Accountancy-Page-1

(b) T 35,000
(d) % 34,000 -
brought by.the new partner may be

(b) the old partners

(d) the sacrificing partners :
ents is not true ‘in relation to admission of a
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 (a) Bank A/c
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-If the final amount due to a retiring partner is not Paid;immedia’t_ely, it is

transferred to

el  (b) Retiring /s capital A/¢
(c) Retiring partner’s loan A /c (b) Retiring partner’s capital A/

(d) Other partners’ capital A/c

‘A, B and C are partners sharing profifs in the ratio of 2:2:1.-On retirement of B,

goodwill of the firm was valued as ¥30,000. Find the contribution of A and C to
compensate B: C ’ ‘ g

(a) 20,000 and ¥10,000 ~ (b) 28,000 and 74,000 L 4
(c) *10,000 and 220,000 Y (d) 15,000 and 215,000 . - :
After the forfeited shares are reissued, the balance jn the forfeited shares accourit . .
should be transferred to Rt : | '

(a) General reserve account . - (b) Capital reserve account .

(c) Securities premium account . (d) Surplus account ’
Suprerme Ltd. forfeited 100 shares of T 10 each for non-payment of final call of ¥ 2
per share. All these shares were re-issued at 7 9 per share, What amount will be
transferred to capital reserve account? o ' ' ' |

(a)T700 A T (b) T 800

(c) T900 -, w ol (d) ¥1,000 : 3
Which of the following tools of financial statement analysis is suitable when data
relating to several years are to be analysed? ' s 09 S .

a) Cash flow statement - - b) Common size statement

c) Comparative statement d) Trend analysis

~ Cost of revenue from operations 3,00,000; Inventory in the beginhing of the year

360,000;Inventory at the close of the year 340,000. Inventory turnover ratio is

‘ ‘(a) 2 times < n B . (b) 3 times

(c) 6 times AR A ' (d) 8 times < A
Which of the following options is used to view Trial Balance from Gateway of

- Tally?

(a) Gateway of Tally -> Réports -> Trial Balance
(b) Gateway of Tally -> Trial Balance _ a
(c) Gateway of Tally -> Reports -> Display -> Trial Balance

(d) None of these . ;
Match List I with List II and select the correct‘ans'wer using the codes given below:
S.No ListI : S.No e List II
i) Revaluation account 1 . | Lossitem
ii) [ Unrecorded Asset - "2 | Revaluation - Debit
iii) | Unrecorded Liability | 3 | Nominal account -
iv) | Profit on Revaluation ‘4 | Profititem B}
' Codes: ' '
@) G (i) @)
@ -3 2 1. 4
(b) 3 2SR SR
© QWY 4 1 2
R i 4 2 | ‘
-Which one of the following is not correctly matched?
(a) Reserve Capital - Winding up -
. (b) Capital Reserve . - Gain of forfeiture
(C) General RéserVe - - Undistributed LdSS '
(d) Reserves and Surplus - . Share Premium

12-Accountancy—Page-2
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20.-

Note:

21.
22
23.

24,
2

26.

27.

28.

29.

below:
Particulars T k¢
/ e . - o
Total current liabilities 1,00,000
Total current assets ‘ 2,;8,888
.| Inventories ‘ . 15:0007 

Prepaid expenses :
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Assertion |
(A) All transactlons relatmg to related to payment elther in cash or

th
rough bank are recorded using payment voucher.

ea
son ( R): Sales voucher are used for recording cash sale of goods.

: 2)) ?X;IIS(A) and (R) are correct b) Both'(A) and (R) are incorrect
correct and (R) is incorrect d) (A) is incorrect and (R) is correct
Part - | ' (7x2=14) -

Answer any seven questions in which question No.30 is compulsory.

State the accounts generally maintained by small sized sole trader When double
entry accounting system is not followed.
Give four examples for capital receipts of not-for-profit orgarllzatlon

Write a short note on securities premium account.

What is a group in Tally.ERP 9?

From the following details, calculate credlt purchases

: Particulars . 3
Opening creditors : ] ' *~1,70,000
Purchase returns ) SRS R ‘ ' - 20,000
Cash paid to creditors. - = ; . 4,50,000
Closing creditors = T L ' _1,90,000

Compute income from subscrlptlon for the year 2018 from the followmg partlculars
relating to a club. : ' g

_ Particulars > 3
‘Outs'tanding subscription © 10,000 7,000
Subscription received inadvance , | 3,000 5,000 |-

Subscription received.during the year 2018:.31,50,000 -

- Arun is a partner-in a partnership firm. As per the partnershlp deed, 1nterest on

drawings is charged at 12% p.a. During:the year ended 31st. December 2018 he drew

as follows:
Date X ‘
March 1 : 6,000
| June 1 4,000
September 1 5,000
December 1 ° 2,000 |

Calculate the amount of mterest on drawmgs ‘
From the following information, calculate the value of goodw111 based on 3 years )

purchase of super profit.
(i) Capital employed: ¥ 2,00,000
(i) = Normal rate of return: 15% - T A

(ili) Average proflt of the business: T 42,000 -
Calculate quick ratio of Ananth Constructions Ltd from the mformatxon given

1 Z-Accppntancy-Pag’e-B
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30.

* Note:

31.

32,

33.
34.
35.

37.

38,

© - retirement, his capital account shows a credit balance of 1 50 ,000. Pass
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Journal entry for forfelture of shares.

Part — Il

Answer any seven questions in which question No.40 is compulsory.

Expenditure Account. (any 3)

| Arutha was holdmg 500 equxty shares of ?10 each of Thanjavur Mo

par. She paid 3 on application, ¥5 on allotment but could not paY =
call of 2. The directors forfeited. the shares for: nonpayment of call mo .Y.

State the differences between Receipts and Payments Account an

tors Ltd, issuef%i a; '

. otand final
the first'a e
(1x3=21)

d Income and

What are the adjustments required at the time of admlssmn of a partner7
State any three advantages of ratio analysis. -
Mention the commonly used voucher types in Tally.ERP 9

On 1%t April 2018 Subha started her business with a capital of 1,

maintain proper bookof accounts. Following particulars: are
books as on 31-3-2019. :

20 OOO She dld not ‘
avallable from her

S PO

_ Particulars 4 Particulars ____3___~
Bank overdraft 50,000 | Stock-in-trade | 1,60,000 |
Debtors 1,80,000 | Creditors 90,000 ‘
Bills receivable 70,000 | Bills payable 2,40,000
Computer 30,000 | Cash in hand- 50/000
Machinery 3,00,000

‘During the year she Wlthdrew 330,000 for her personal use. She mtroduced further

capital of ‘40,000 during the year. Calculate her profit or loss.

Compute Capital fund of Karur Social Club as on 31-03-2018.

Particulars g
Furniture 50,000.
Buildings 40,000
Subscription outstandmg for 2017-18 - 10,000
Subscription recelved in advance for 2018-19 - 5,000
Loan borrowed 10,000
Investments 20,000
.| Cash in hand 4,000
Cash at bank 6,000

'Hari, Madhavan and Kesavan are partners, sharing profits and losses in the ratio of

5:3:2. As from 1st April 2017, Vanmathi is admitted into the partnership and the new
profit sharing ratio is decided as 4:3:2:1. The following adjustments are to be made
(a) Increase the value of premises by Z60,000. :
-(b)  Depreciate stock by 5,000, furniture by ¥2,000 and machmery by %2,500.
(c)  Provide for an outstanding liability of ¥500. :
Pass journal entries and prepare revaluation account.

Kavin, Madhan and Ranjith are partners sharing profits and losses in the ratio f ”
4:3:3 respectively. Kavin retires from the firm on 31st December, 2018 On, the date of
o

entries if:

(@) The amount due i is paid. off immediately.
(b)  The amount due is not paid immediately. -

 (¢)  ¥1,00,000 is paid and the balance in future. -

journal

12:Accountancy-page 4
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39. From the following particu

, Particulars 2015-2016'(7) | 2016-2017 ()

| Revenue from operations - 4,00,000 5,00,000
Operating Expenses : 2:0():000_ 1,80,000
Income tax (% of the profit before tax) 20 50

40.  From the following statement of pr()flt and loss of Mukesh Ltd. Calculate

(1) Gross Profit ratio

(ii) Net profit ratio

Eﬁ.&_l’m‘e Comparative income statement of Mary Co. _Ltd %

Particulars Amount
7
I. Revenue from ﬂperations 5,00,000
I1. Other income: : ‘
Income from investment 40,000
1L Total revenues (I + 1I) 5,40,000
IV. Expenses:
Purchase of stock in trade - 1,80,000
Changes in inventory 20,000 |
Employee benefits expense 30,000
Other expenses 1,10,000 '
Provision for tax - 50,000
~ Total expenses - 3,90,000 |
" | V. Profit for the year .1,50,000
Note: Part-IV (7x5=35) -~
) Answer all the questions.
41. (a) From the following partxculars calculate total sales
Particulars | 3 , Particulars 4
Debtors on 1-4-2018 2,50,000 | Bills receivable dishonoured 15,000
Bills receivable on 1-4-2018 60,000 | Return inward 50,000
Cash received from debtors 7,25,000 | Bills receivable on 31-3-2019 90,000
Cash received for b1lls receivable - | 1,60,000 | Sundry debtors on 31-3-2019 2,40,000
Bad debts 30,000 | Cash sales 3,15,000 |:
(OR) -

(b) Anand and Balu are partners in a firm sharing profxts and losqes in the ratio of
7:3. Their balance sheet as on 315t March, 2018 is as follows:

Liabilities g Assets 4
Capital accounts: Land 60,000
Anand 50,000 Stock - 40,000
Balu 30,000 80,000 | Debtors 20,000
Sundry creditors 20,000 | Cash in hand . 10,000
Profit & Loss A/c 30,000 T A
: ’ 1,30,000 ! 1’30’000

for 1/4 share in the future profit subject to the following ad]ustments
(@) Stock to be dépreciated by 3,000

L —— e .
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E (b) Provision for doubtful debts to be created for ¥2,000.

" (o) Land was to be appreciated by 10, 000
Prepare revaluation account and capltal account of partners after admission,

12-Accountancy-Page-5 .

Chandru is admitted as a new partner on 1.4.2018 by introducing a capital of 20,000

-
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(a) From the following Réceipts and Payment account of Ycrcz;ud Youth Association,

prepare Income and expenditure account for the year ended 315t March, 2019 and the :

- Balance sheet as on that date.
Receipts and Payments account

. for the year ended 31+ March, 2019 /{"—1
' Receipts ‘ d Payments __———~"357]
To balance b/d - Cash in hand 9,600 | By Salary ——1—-’566‘
To Govt g.rar.lts for purchase of books | 10,000 By Office mpensu——%%”m‘
To SUbSC_“}?t‘O“ 24,800 | By Books purchased —1—1—’—@'0“
To Ac-lmlssmn fees 2,000 | By Stationery purchased _._-’Taa
To Prize fund_receipts “ 6,000 | By Newspaper purchased | 2 000
To Bank interest 1,500 | By Prizes awariei,,/——-i——o—
To sale of newspapers - 1,100 | By balance c/d - Caj_})'_iﬂha—r-‘g—————g—’?—o—d‘
B 55,000 | 55,000
Additional information:
(i) - Opening capital fund % 20,000

(i)  Stock of books on 1-4-2018 2 9,200
~(iif)  Subscription due but not received ¥ 1,700
(iv)  Stock of stationery on 1-4-2018 %1,200 and- stock -of stationery on 31-3-2019

(b) Dinesh and Sugumar entered’ in

22,000

to a partnership agreement on lst_january 2018,

Dinesh contributing %1,50,000 and Sugumar %1,20,000 as capital. The agreement.

provided that: :

(a) Profits’and losses to be shared in the ratio 2:1 as between Dinesh and Sugumar.

(b) Partners'to be entitled to interest on capital @ 4% p.a.

(c) Interest on drawings to be charged Dinesh: ¥3,600 and Sugumar: 32,200

(d) Dinesh to receive a salary of 60,000 for the year, and

(e) Sugumar to receive acommission of ¥ 80,000 :
During the year ended on 31st December 2018, the firm made a profit of 2,20,000
before adjustment of interest, salary and commission.
Prepare the Profit and loss appropriation account.

. 43, (a) Calculate the value of goodwill at 5 years purchase - of super profit from the
following information: : .

(i) Capital employed: ¥1,20,000
(ii) Normal rate of profit: 20% |
(iii) Net profit for 5 years: « : _

2014: Z30,000; 2015: ¥32,000; 2016: ?35,000; 2017: 337,000 and
(iv) Fair remuneration to the partners 32,800 per annum.
' o (OR) :
Khan Ltd. issued 50,000 shares of Y10 each to the public. payable 7 4 on
application, ¥4 on allotment and %2 on first and final call. Applications

received for 65,000 shares. The directors decided to allot 50,000 shareg ¢

2018: 40,000

(b)

were

; icati s utilised for allo 1 pro
‘rata basis and surplus apphcatlon money was utl r allotment, Pagg jotEnal
entries assuming that the amounts due were received. -
12: S
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44, s ’ PR e,
.l(_:)t ‘Kannan, Rahim'and John are partners in a firm sharmg proﬁt and losses in the :
_ 10 of 5:3:2. The balance sheet as on 31t December, 2017 was as follows: &

Llablhhes z ; ~ Assets e 4
| Capital: B 7 Bu11dmgs — | 90,000
Kannan . :  1,00,000 . ! 5
Rahim "+ 80,000 e o
John g 40,000 2,20,000 | e : .
Workmen Compensation Fund 30,000 | Machinery : 60,000
Sundry Creditors . - 20,000 | Debtors P 30,000
i i - Stock * 20,000
Ny | , Cash at bank ' 50,000 |
' Profit & Loss a/c (Loss) 20,000,
2,70,000 2,70,000

John retires on st January 2018, subject to followmg condmons

(1) To.appreciate building by 10%

(ii)  Stock to be depreciated by 5%.

(iii)  To provide 1,000 for bad debts ' :

(iv)  Anunrecorded liability of 8,000 have been notlced

(v)  The retiring partner shall be paid immediately.

Prepare revaluation account, Partners’ capltal account and the balance sheet
of the firm after retirement.

| [OR] :
(b) From the following baIance sheet of Chandra Ltd, prepare comparatlve ba]ance
sheet as on 315t March 2016 and 31t March 2017. '

[ : Particulars | 315t March 2016 () | 315t March 2017 (%)
I. EQUITY AND LIABILITIES L ,' : :
Shareholders’ fund : - - 1,00000| 2,60,000
. Non-current liabilities ~ 50,000 P 60,000
Current liabilities 8 25,000 30,000
[ "~ TOTAL =220 § 1,75,000 | 3,50,000
II. ASSETS- ’ ¢ - o L -
Non-current assets - ' 1,00,000 2,00,000
| Current assets A V. , A 75,000 |. - 1,50,000
I TOTAL ; 1,75,000 , *3,50,000

(a) From the given mformatlon calculate the inventory turnover ratio and mventory '

45.
conversion period (in months) of Sania Ltd.
: Particulars 2015-2016 (%)
Revenue from operations 1,90,000
rnventory at the beginning of the year 40,000
. Wthe end of the year 20,000 _ - .
. [ Purchases made during theyear 90,000 ;i '
10,000 : ? g I
- [ Carriage inwards _10, 2 ) - o 5% P
L’fg [OR] e .
- (b) Explam any five appllcatlons of computerized accountlng system. = . .
(a) From the followmg information, prepare capital accounts of partners Mannan

46, )
and Sevagan, when thelr caplta]s are fluctuating. e 12- Accountancy-page_7
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Particulars.

Capital on 1¢t January 2018 (Cr. balance)

Mannan ()| 1,7

| Drawings during 2018

—40,000| 500

Interest on drawings -

1,000 | —16,500

Share of profit for 2018

21,00 -~ ——70,500

Interest on capital

12,000 —— Nil |

Salary

| Commission

118,000 | —2,500]

| [0R]

(b) Shero Health Care Ltd. invited applications for 3,00, 000 equl

at a premium of 32 per share payable as follows:

< 3 on application

35 (including premium) on allotment

% 4 on first and final call

There was over subscription and applications were received
the excess applications were rejected by the directors. All the mone

received. Pass the journal entries.

(@) Brmg out the limitations of ratlo analys1s

[OR] -

fér 4,00,000 sharés and
y due were

(b) From the followmg Balance sheet of Arunan Ltd as on 31- 3- 2019 calculate

(i) Debt-Equity Ratio (ii) Proprietary Ratio (iii) Capital gearing Ratio
Particulars ° ' WX
I. EQUITY AND LIABILITIES
1. Shareholders’ funds :
(a) Share capital - .
Equity share capital " 1,50,000
% Preference share capital 2,00,000
(b) Reserve and surplus 1,50,000
-1 2. Non-Current liabilities . - :
Long term borrowings (9% Debentures) 4,00,000
3. Current liabilities: - :
Short term borrowings from banks 25 000
Trade payables s 75,000
Tdpal 10,00,000
II. ASSETS: IR
1. Non-Current assets
Fixed assets 7,50,000
2. Current assets
(a) Inventories 1,
(b) Trade receivables 1’38888
(c) Cash and cash equivalents ) 27’500
(d) Other current assets B Sty
Expenses paid in advance . ]
P o 2500,

iy
B.

» :
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